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Guess Paper – 2010

Class – XII

Subject –Accountancy

Time allowed: 3 hours






Maximum Marks:80
General Instructions:
(i) This question paper contains three parts A, B and C.

(ii) Part A is compulsory for all.
(iii) Attempt only one part of the remaining B and C.

(iv) All parts of questions should be attempted at one place.

Part A

 Partnership firm and Companies

1
What is Profit and Loss Appropriation account?





1

2
Enumerate the two adjustments required on retirement of a partner.



1

3
Give two main sources of income of a Not-for-Profit Organization.



1
4
Define debentures.









1

5
Can a company issue a share having face value of Rs. 10 at Rs. 8? Support your answer.
1

6
What is Minimum Subscription?







3
7
From the following extracts of Receipt and Payments Account and additional Information, compute the income from subscriptions for the year ended 31st March 2009 and show the subscription items in the Final account of March Aid Society as on that date:






Receipts and Payment accounts





For the year ended 31st March 2009
	Receipt
	   Rs.
	Payment
	    Rs.

	To Subscription

           2007 – 08

           2008 – 09

           2009 – 10
	   42,000

1,80,000

   30,000
	
	



Additional Information
:






  Rs.

(i)
Outstanding subscriptions as on 31st March, 2008


52,500

(ii)
Outstanding subscriptions as on 31st March, 2009


70,500


(iii)
Subscriptions received in advance as on 31st March 2008

22,500

3
8
40,000 shares of Rs. 10 each were issued for public subscription at a premium of 6%.  Full amount was payable on application. Applications were received for 50,000 shares and the Board decided to allot the shares on pro-rata basis.  Pass necessary journal entries.

3

9
A and B formed a partnership on 1st April, 2007.  They agreed that out of profits:


(i)
A should received a salary of Rs. 500 per month.


(ii)
Interest on capital should be allowed @ 6% p.a.

(iii) Interest on partners drawing should be charged @ 8% p.a.

(iv) A provision 10% of the profits is to be made in respect of manager’s commission.

A contributed a capital of Rs. 50,000 on 1st April, 2007 but B brought in his capital of                  Rs. 1,00,000, on 1st August 2007.  During the year, the drawings were : A Rs. 15,000 and B        Rs. 20,000.  Profit for year 2007- 08 before the above noted adjustment was Rs. 60,000.

Prepare Profit and Loss Appropriation Account.





4

10
Exe Ltd. purchased assets of book value of Rs. 4,00,000 and took over the liabilities of             Rs. 50,000 from Deepak Bros.  It was agreed that the purchase consideration, settled at Rs. 3,80,000, be paid by issued debentures of Rs. 100 each.  Assume debentures have been issued:


(i)
at Par


(ii)
at a premium of 10%.  It was agreed that any fraction of debenture be paid in cash.
4

11
(a)
X, Y and Z are partners in a firm sharing profits in the ratio of 5 : 2 : 3.  Z retires and his 

share is taken up by X and Y equally.  Find the new profit sharing ratio and gaining ratio.

(b)
The goodwill of the firm is valued at Rs. 55,000.  No goodwill account appears in the books.  Pass necessary journal entry for recording the goodwill in the above mentioned case.










4

12
(a)
X Ltd. issued 2,00,000, 10% debentures of Rs. 100 each at par, redeemable at premium at 
5% by conversion into equity shares of Rs. 100 each issued at par at the option of 
debenture holders.  One debenture holder holding 100 debentures exercised his option.


Pass the journal entries to record the issue and conversion of debentures.

(b)
Gori Ltd. has 1,60,000 8% Debentures of Rs. 100 each due for redemption on 31st March 2009.  Assume that  Debenture Redemption Reserve has a balance Rs. 57,00,000 on that date.


Record necessary journal entries at the time of redemption of debentures.
(3 + 3) = 6

13
From the following Receipts and Payments A/c and other information given, Prepare the Income and expenditure Account for the year ended March 31, 2008 of the Medical Help Club as on that date:




Receipt and Payments A/c





For the year ended March 31, 2008

	Receipt
	    Rs.
	Payment
	   Rs.

	Balance b/d
Donation

Subscription

Interest on 8% Investment for the year

Charity film show
	  29,000
  12,000

  52,500

   8,000

 12,000

_______

1,13,500
	Honorarium to Doctor

Salaries

General expenses

Medicine Purchased

Medical Equipment Purchased

Charity Film Show Expenses

Balance C/d
	  10,000
  28,000

    2,000

  30,000

  10,000

    4,000

  27,000

1,13,500



Additional Information:


As on 



As on







31st March 2007

31st March 2008


(i)
Subscriptions
due


      800



    1,000


(ii)
Subscriptions Received in advance 
    1,200


       600


(iiI)
Stock of Medicine


   10,000


  15,000


(iv)
Bills for Medicine outstanding

      6,000


    9,000


(v)
Medical Equipment


    25,000


   32,000


(vi)
Building



1,00,000


   95,000.
6

14
A, B and C are in partnership sharing profits and losses in the proportions of ½ , 1/3 and 1/6 respectively.  On 31st March 2009 they decided to dissolve the partnership, and the position of the firm on this date is represented by the following balance sheet:

	Liabilities
	   Rs.
	                  Assets
	     Rs.

	Creditors

Loan from A

Reserve fund

Capital A/c

               A

               B

               C
	  40,000

  10,000

  12,000
  60,000

  40,000

  10,000

1,72,000
	Land & Building

Goodwill

Stock

Sundry debtors

Cash at bank
	  57,000
  10,000

  50,000

  50,000

    5,000

______

1,72,000



During the course of realisation, a liability under a suit for damages is settled at Rs. 20,000 as against Rs. 5,000 only provided for in the books of the firm.

Land and building were sold for Rs. 40,000 and the Stock and Sundry Debtors realized Rs. 30,000 and Rs. 42,000 respectively.  The expenses of realisation amounted to Rs. 1,200.  The goodwill taken by B at Rs. 6,000.


Prepare Realisation A/c, Partners’ capital A/c and Bank A/c.




6

15
Sagar Ltd. invited applications for 1,00,000 shares of Rs. 100 each at a premium of Rs. 20 payable as application Rs. 40; on allotment Rs. 50 (including premium) and balance on first and final call.

Applications were received for 1,25,000 shares and allotment was made on pro-rata basis.  Excess money on application was adjusted on sum due on allotment.  Neha to whom 600 shares were allotted failed to pay the allotment and call money and Renu who applied for 1,000 shares to pay the call money.  These shares were forfeited after the final call.  Of the shares forfeited, 1,200 shares were sold to Kriti for Rs. 85 per share as fully paid, the whole of Renu shares.

Pass the necessary journal entries.







OR

Harshita Ltd. invited applications for the allotment of 80,000 shares of Rs. 10 each at a discount of 10%.  The amount was payable as follows:-

On Application Rs. 2 per share;  On allotment Rs. 3 per share and balance on First and final call.

Applications for 1,10,000 shares were received.  Applications for 10,000 shares were rejected.  Shares were allotted on pro-rata basis to the remaining applicants.  Excess application money received on applications was adjusted towards sum due on allotment.  All calls were made and duly received.  Manu who had applied for 2,000 shares failed to pay the allotment and first and final call.  His shares were forfeited.  The forfeited shares were reissued for Rs. 24,000 fully paid up.

Pass the necessary journal entries in the books of the company for the above transactions.  

16
The Balance sheet of A, B and C who were sharing profits  in the ratio of 5 : 3 : 2 as on 31st March 2008


Liabilities


                Rs.  

   Assets


      Rs.


Creditors



50,000

Cash at Bank


40,000


Employees’ Provident Fund

10,000

Sundry Debtors
          1,00,000


Profit and Loss a/c


85,000

Stock



80,000


Capital A/cs:





Fixed Assets


60,000



A
40,000



B
62,000



C
33,000

         1,35,000




         
 






         2,80,000




         2,80,000

A retired on 31st March 2008 and Y and Z decided to share profits in future in the ratio of 2 : 3.


The other terms on retirements were as follows:

(i) Goodwill of the firm is to be valued at Rs. 80,000.

(ii) Fixed assets are to be depreciated to Rs. 57,500.

(iii) Make a Provision for doubtful debts at 5% debtors.

(iv) A liability for claim, included in creditors for Rs. 10,000, is settle at Rs. 8,000.

The amount to be paid to A by B and C in such a way that their Capitals are proportionate to their profit sharing ratio and leave a balance of Rs. 15,000 in the Bank Account.

Prepare the Revaluation Account, Partners Capital accounts and Bank account.

8






OR

X and Y are partners in a firm sharing profit and losses in the ratio of 7 : 3.  Their balance sheet as on 31st March, 2008 is al follows:


Liabilities


                Rs.  

   Assets


      Rs.


Creditors



45,000

Cash in hand


36,000


Reserve



10,000

Cash at Bank


60,000

Workmen’s Compensation Fund
15,000

Debtors


44,000


Capital A/c





Stock



50,000



X
1,00,000



Goodwill


30,000



Y
   80,000
          1,80,000

Furniture


30,000





          2,50,000




          2,50,000

On 1st April 2008, they admit Z on the following terms:

(i) Goodwill is valued at Rs. 40,000 and Z is to bring in the necessary amount in cash as premium for goodwill and Rs. 60,000 as capital for 1/4th share in profits.

(ii) Stock is to be reduced by 40% and furniture is to be reduced to 40%.

(iii) The Liability of workmen’s Compensation Fund was determined be Rs. 12,000.

(iv) Capitals of the partners shall be proportionate to their Profit-Sharing Ratio taking Z’s capital as base.  Excess or Shortfall, if any, to be transferred to current A/c.

Requirements:

Revaluation A/c, Partners’ Capital Accounts and Balance sheet of the new firm.


Part B

Analysis of Fnancial Statement
17
Assuming that the Quick ratio is 1 : 1, state giving reason whether the ratio will improve, decline or will have no change in case of goods sold on credit basis.



1

18
Give one example of an activity which is classified as operating activity in case of all enterprises.










1

19
State any two objectives of preparing a ‘ Cash flow statement’



1

20
State any three items of each which are shown under the heading ‘Investment” and “Reserve and Surplus”.









     
3

21
(a)
Net profit ratio of a company was 20%.  Its indirect expenses were Rs. 80,000 and cash 
sales were Rs. 3,00,000,  the credit sales were 80% of total sales. 

 Calculate Gross profit ratio.

(b) A business has a current ratio of 3 : 1.  Its net working capital is Rs. 4,00,000 and its stock are valued at Rs. 2,50,000.  find quick ratio.



2 + 2 = 4

22
Prepare the Comparative Income Statement from the following information:

Particulars




31st March 2007
31st March 2008

Net Sales




10,00,000

20,00,000

Cost of goods sold



70% of sales

75% of sales

Operating Expenses



80,000


1,88,000

Income Tax Rate



40%


40%














4

23
From the following extracts taken from the Balance sheet of M/s kriti Ltd.on 31st March and the additional information provided, you are required to calculate:


(i)
Cash Flow from Operating Activities
(ii)
Cash Flow From Financing Activities;



Liabilities



2005 (Rs.)

2006 (Rs.)


Equity Share capital


20,00,000

30,00,000


10% preference share Capital

  2,00,000

  1,00,000


Securities Premium


-----------

  1,00,000


Profit and Loss A/c


  4,00,000

  8,00,000


10% Debentures


10,00,000

10,00,000


Additional Information:

(i) Preference shares were redeemed on 31st March 2005 at premium of 5%.

(ii) Dividend on equity shares was paid @ 8%.  Fresh issue of equity shares was done on 1st April 2005.









6
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